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SECTION—A
( General Introduction to Vydkarana )

( Marks : 25)

1. (a) Write very short answers of the following
as directed : 1x3=3
(i) Which deity is eulogised in the begin-
ning of Laghusiddhantakaumudi?
(ii) 73 .
( Fill in the blank )
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5 == SECTION—B

(iii) Astadhyayi was written by Panini / T e
Bhattojidiksita. ( Natvavidhi and Satvavidhi )
( Choose the correct answer ) |2 ( Marks : 15 )
(b) Give Sanskrit definition with illustration any ' 3. Explain with example any two of the following

(wo of the following : 4x2=8 f (one each from (a) and (b) : 4x2=8

W ;3 R R e (a) TP ; e () ; I

Or | (b) WRRAT @7 ; W-a-TT= ; wfew:

Write down the ITI%WS g
4. Explain the cause for change of “T" to ‘T’ or
2. (a) Explain with exam ‘¥ to ‘Y’ (any two) : 3%ax2=7

Ple any tw,
following Sttras : Y SOt

4x2=8 | U ; RO ; JOMTY ; TOTRL ; O ; qfme |

W:Eﬁm:; Qa"[sq-q-rq-rq:; Fﬁ‘gq"(g
. ?
T T | SECTION—C
' | ( Declension of Noun, Pronoun and Roots )
(b) Join any three of the following - 1x3=3 ¢ )
: ( Marks : 15
T T ;oA o+ ST
M+ o1w: PTG+ \ S. (a) Decline the following in all numbers (35)
| (any five) : 1%x5=T%
(c) Disjoin any three of the followmg Sandhis (i) 39 in g
1x3=3
TRIEHT ; I, e, (ii) 3 in Tk
AT TRt ; mfe: |
(iii) O in Tt
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(4)

(iv) T in T
(v) SO in wEdt
(vi) g in Sgdf
(vii) AP in g4t

(viii) T in 7Y

(b) Conjugate the followin

(ix) T in fasfvay

(any five) :

24P/109

) G in 9 3 o (in ety
(ii) \firinqiww

i) % in % 0 g

(iv) ‘fﬁi(m‘})iﬂa{mm
(v) W&ﬁma{mm

(vi) V%iinar{mm

(vii) VST in “E‘Mwm

(viii) %5 in m{mm

€ T0ots in all numbers

1%x5=7%

( Continued)

(S)

SECTION—D.

( Karakaprakarana and Samasaprakarana )

( Marks : 25)

6. (a) Explain the following Sutras (any two) : 4x2=8
(i) SRR gEE
(i) FTETATIGILT
(iii) T=yETT FrwT:
(iv) @

(b) Account for the case-ending of the following
underlined words (any six) : 1x6=6

(i) ¥ 2R & 78|
(i) T TE%: TR G |

(iii) 1€ uiq_ |

(iv) § TATRRFRIY A |
(v) _f%l_aﬁ_:nﬁfrmﬁn

(vi) U T SR

(vii) T SRE Fwery RFaf
(viii) JET BT qaf= |
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(c) Name and expound the compounds (¥HTHs) i
of any two of the following : 1%4x2=

RRIENR e fes:; flarat; IR

(d) Explain with illustration t

he following Siitras
(any two) -

4x2=8



